k L

3 v A Ak R A BX B B/ (BT BR + P B 44 @ |
]

RENY/PO

SRR 1 Size (mm) SRR pizki:d Size (mm)

Part Number M DK K Part Number M DK K
25000P0020250003 M2x3 35 13 25000P0050080012 M5x12 9 33
25000P0020250004 M2x4 35 13 25000P0050080015 M5x15 9 33
25000P0020250005 M2x5 35 13 25000P0050080020 M5x20 9 33
25000P0020250006 M2x6 35 13 25000P0050080025 M5x 25 9 33
25000P0020250007 M2x7 35 13 25000P0050080030 M5x30 9 33
25000P0020250008 M2x8 35 13 25000P0050080035 M5x35 9 33
25000P0020250010 M2x10 35 13 25000P0060100010 M6x10 10.5 39
25000P0020250012 M2x12 35 13 25000P0060100012 M6x12 10.5 39
25000P0026045004 M2.6x4 45 17 25000P0060100015 M6x15 10.5 39
25000P0026045005 M2.6x5 4.5 1.7 25000P0060100020 M6x20 10.5 39
25000P0026045006 M2.6x6 45 17 25000P0060100025 M6x25 10.5 39
25000P0026045010 M2.6x10 4.5 17 25000P0060100030 M6x30 10.5 39

25000P0026045012 M2.6x12 45
25000P0030050004 M3 x4 5.5
25000P0030050005 M3 x5 55
25000P0030050006 M3x6 5.5
25000P0030050008 M3x8 5.5
25000P0030050010 M3x10
25000P0030050012 M3x12
25000P0030050015 M3x15
25000P0030050016 M3x16
25000P0030050020 M3x20
25000P0030050025 M3x25
25000P0030050030 M3x30
25000P0040070005 M4 x5

25000P0040070006 M4 x6

25000P0040070008 M4 x8

25000P0040070010 M4x10
25000P0040070012 M4x12
25000P0040070015 M4 x15
25000P0040070016 M4x16
25000P0040070020 M4 x20
25000P0040070025 M4x25
25000P0040070030 M4 x30
25000P0050080008 M5x8

25000P0050080010 M5x10

25000P0060100035 M6x35 10.5 3.9
25000P0060100040 M6 x40 10.5 3.9
25000P0080125016 M8x12 14 5.2
25000P0080125016 M8x15 14 5.2
25000P0080125020 M8x20 14 5.2
25000P0080125025 M8x25 14 5.2
25000P0080125030 M8x30 14 5.2
25000P0080125035 M8x35 14 5.2

Ul U1 U1 U1 Ul U1 Ul

W W NN DN DNDNDDNDNDDDNDDDNDDND =
Wwooooamaaaaa MNNNNNNNNNN

WRHEFRA BIENLATE




	Sheet2

